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Section 66(E) of IT Act deals with
(A) Punishment for violation of Privacy
(B) Phishing
(C) Cyber stalking
(D) Spamming
Find the number of straight lines in this figure.
L
(A) 10 (B) 15 o
(C) 13

(D) 12

Thers:- are two numbers sych that the sum
of twice the first and

thrice the second is 18,
while the sum of thrice the first and twice
the second is 17.Th

e larger of the two is
(A) 12 (B) 4
(€) 6 (D) 8
AGP Stands for

(A) Accelerated Graphic Pen
(B) Advanced Graphics Pen
(C) Accelerated Graphic Port
(D) Advanced Graphics Port

When did Treaty of Versaille

s was signed ~
(A) 1918 (B) 1935
(C) 1920 (D) 1919

If the radius of the base of a f. circular
cylinder is halved, keeping the height same,
what is the ratio of the volume of the reduced
cylinder to that of the original one ?

(A) 1:4 (B) 8:1
(C)1:2 (D) 1:8

‘SVEEP’ stands for
(A) Systematic Voters Enrolment and
Electoral Participation

(B) Systematic Voters Education and
Electoral Participation

(C) Systematic Voters En
Participation

(D) Systematic Voters
Education Progra

E3ge and Electoral

Enrolment and
mme
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2. b ) i (5) iy e 2
) e e
AOE{|

mhaﬁtﬂrﬂﬁmaﬁﬁmm?rﬁil

S

VAR, /
(8) 1

(D) 12

(A) 10
(C) 13

(B) 1935
(D) 1919
ﬂﬁqmmqmﬁm%éﬁnhﬁm‘mﬁﬂ
SRR EIREE T = e s, §@ W g

4T ¥ NI W Ao 5 AR F I
1€ ?

(A) 1:4
(C)1:2

(C) 1920

(B) 8:1
(OL3E

‘SVEEP' o warerd & _

(N Teredfems died wrierite te st
nféfetem

(B) firetfew ded T (@ W
iR |
iféf

(D) firRhfee diedl wiieniz Us ugEee
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8. In this question, two statements are given
followed by two conclusions. Choose the
conclusion(s) which best fit(s) logically. -
Statements :

1. Some apples are banana.

2. All bananas are frults,
Conclusions :

I. Some fruits are apple.,

Il. Some bananas are fruits.
(A) Only Conclusion I follows
(B) Both Conclusions | and Il follow
(C) Neither Conclusion | nor Il follows
(D) Only Conclusion I follows

9. Ifthe word PATCH Is written as QBUDIwhereas
BATCH Is written as
(A) CBUDI
(C) BCEGH

(B) ACDFH
(D) CEGIKH

10. Consider the following statements about
minimum education qualification to contest
election of Lok Sabha and Vidhana Sabha,
I. There is no educational qualification for
candidates for being an MP or an MLA,
I, Putting an educational qualification will
deprive a majority of the citizens right
to contest election in India.
Choose the right option given below :
(A) The statement | is correct
(B8) Both the statements | and Il are

incorrect .
(C) Both the statements | and |l are corre®

(D) The statement Il Is correct

In anclent times the term Urvara® sed

to Indicate

(A) Fertile soll
(C) Waste soll
If (x = 1) Is the H.C.F, of (x’ = 1) and

px’ —q (x+ 1), then
(A) p=2q (8) 2p=3q

(C) 3p=2q (D) a=2p

The flux linked with a coil at any Instant t Is
given by ¢ = 10tF = 50t + 250, then induced

fatt=3sls
emfa [B]-ISDV

(A) —10V
(C) 190V (D) 10V

11.

(B) Sanay oil
(D) Sterile soll

12.

13.

.3.

8.

10.

12.

13.
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g weA i, @) wwa fa o @ A a2 Pewd
fe o 1 Pt spfae 50w s @ galm
wAw A
W

1. 0 i en &)

2. it i wa @)
framd :

I T wet da )

N, 6 ke wa @
(A) e Frsad o arqoo 'R
(8) ok | afve p ) srgEon i §
SEREES RERINE cU R BT IR
(D) rer fanaand | onqaon aa B
afz pPATCH 7152 ) QBUDI fEven sirm R,
BATCH it s feven smum {
(A) CBUDK (B) ACDFH
(C) BCEGH (D) CEGIKH

armn sl B @1 e ez % g
s Rran s % st Pl sl
foram wit
L e Foen 80 R gudizan ¥
fetp-Fa Nanf sivrman i
[ oy, ey el 8 SpE g
.\szw.u 11 arfosa i afiam w s
Avfarfon it @ adl Pacu m sem el
(A) Ty | ) @ ) ‘}‘&}‘
(8) @t 1 afe nEa afl adl o e
(€) arq s 1 o g~
(D) Wt et @
wreha wrer A gebu v an gl wel
W fen s e s 7
(A) 3uars fad) (b)) theh fagd)
(€) st it~ (D) wan fid)
afe (x! - 1) 3 px? = q (x + 1) W WEwEn
aaaida (x - 1) B, @
(A) p=2q. -~ (B) 2p=3q
(C) 3p=2q (D) q=2p
fare) anvva ¢ o e el & W S A
@ = 10t} - 50t + 250 &, @ Wi $unuw

t=3st R
(A) =10V (B) =190V
(C) 190V (D) 10V
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14,

15.

16.

17.

134

19,

20.

Mohan bought a watch with 25% discount
on the selling price. If the watch cost him
Rs. 1,545, what is the original selling price
of the watch 7

(A) Cannot be determined

(B) Rs. 2,050

(C) Rs. 2,040

(D) None of these

Amnesty International is an Institution which
promotes

(A) Fundamental Rights of the citizens gﬁ#
(B) It promotes peace in the world ts
(C) Fights against inequality in the soclety
(D) Human Rights all over the world

Which number will come in the place of

question mark ?
5,6, 15, 50, 207, ?
(A) 1000

(C) 1050

(B) 1544
(D) 1044

are used for connecting
communication devices like mouse
and modem.
(A) Serial ports
(B) Integrated Digital Electronics (IDE) ports
(C) Universal Serial Bus (USB) ports
(D) Parallel ports

In an exam conducted for 38 students of
class XI1 15 passed in Biology and 25 passed I

Chemistry. If at least 1 student failed in b 4
the subjects, find the maximum num*  of
students who passed in only Biology .- ~

(A) 5 (B) 15 .+ .7

(C) 12 (D) 10

From a point P, Samir st d walking
towards South and walkeddu m. He then
turned towards his left and Walked 30 m and
reached a point Q. The point Q is at what
minimum distance and at what direction
from the point P ?

(A) 50 m South West (B) 35 m South East
(C) 50 m South East (D) 45 m South East

A region with a large number of deep gullies
or ravines is called a

(A) Valley topography
(B) Badland topography
(C) Bordaned topography

(D) Coastal topography

14.

16.

17.

-

‘8.

19,

20.
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vt 3 g e W 25% GE W W 5 vy
aleh | af? 38 ad) 6 EE E 1,545 s
g, M T w famqa@}?

(A) Favifm =t fm s wren

(B) %. 2,050

(C) %. 2,040

(D) ¥t 71 #rd el

U TS U wea § oo
LRI @33
(A) Fmired & Dferr siftrm ﬁj
(B) ae zfam 3 afa F1 agrm Em B
(C) ¥ura & smwmEm # forems wwm b

(D) 7f zfrm W yrarfuan

w7 fo & ram v - v wmh 7

5,6, 15, 50, 207, ?
(A) 1000
(C) 1050

(B) 1544

(D) 1044
w13 3 urzn ddt T g
N AT & fer, g v & | Yo
(A)GfTF a1
B)-37iz fafireat vzt (10g) o

Acygfrawde difwa 7w (uss) o

(D) wHTAT 9T

A1 X1 & 38 VYA o ety 3TETHA UF wha
15 Sfafasm o o § 3 25 eI & o
Elummﬁfawﬁﬁ&at,?hﬁaﬂﬁaﬁm

T qTq €3 1) i ) sifiran sem A |
(A) 5 (B) 15

(C) 12 (D) 10

& 42 p @t wifie afiror ) 3 e amy

w1 e A a0, wEm @ | P

and w30 ot e @ ot o= fag

Q& wgwm 2 | fiz q, fag p @ fmet
e it e ofie fig & o Rrm A 4 7
(A) 501, zfim offem (B) 35+t Zfem
(C) soh. zfdmqd (D) 45+, fim
¥ " W el el @izl (wg) I 89
TREnIME?

(A,m ﬁ\"‘"

(8) ¥zrs wreFfy

(C) WréTe wemFa

(D) #HR 7 FaETF
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21.

22.

23.

24.

=

26.

; ,E(A) 0

Kantilal mixes 80 k
Rs. 6.75 per kg with
per kg. At what rate
to gain 20% ?

(A) Rs. 7.50
(C) Rs. 8.20

8 of sugar worth of
120 kg worth of Rs. 8
hall he sell the mixture

(B) Rs. 8.85
(D) Rs, 9
A person making false documents with the

inteqtion of causing damage or injury to the
public or any person is called

(A) Cheating (B) Fraud
(C) Forgery (D) None of these

Who is the current Cabinet Secretary of India ?
(A) RajivGauba (B) Ajit Seth

(C) P.K.Sinha (D) None of the above
In Youngs double slit experiment, the
distance between the two slits is 0.1 mm
and wavelength of light used is 4 x 107 m.
If the width of fringe on screen is 4 mm, the
distance between screen and slits is

(A) 0.1 mm (B) 1m

(C) 0.1em (D) 1em

The value of
(0.0347)" +(0.9653)’
(0.0347)' —0.0347 x0.9653 +(0.9653)°

(8) 30
(D) 1

___, popularly known 7
all-in-one printer, is a device that
consolidates the capabilities DQ...ltiple
devices in one machine.

(A) Laser printer (B) Inkjet printer
(C) Hydra printer (D) Drum printer

Read the data given belowﬁaunr:l_based onit
he following ques :

:nstg {'}, E, F and G are 7 houses ina r;::;::

which are facing east. C is sitting to tIEelr I

of D. B is one of the corners and |:'SD Is

neighbour. G is in between EandF an S

hird from south end.

B I'.; arneighbour of which of the following
B;' GB
D) FC

(C) 10

pairs ?
(A) CE
(C) AC

21.

22,

23,

24,

25.

26.

27.

i
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Fifaarea 5. G.7suﬁﬁﬁma—rﬁao‘ﬁm?ﬁ=ﬂaﬁ
5. 8 wfa fem am 120 frm =ff % ae foem
d | foor 7 frm 2w s @ifE 30 20%

a7
(A) %. 7.50 (B) 9 8.85
(C) . 8.20 (D) 5.9

maﬁaﬁqmmﬁmﬂwﬁhﬁw
71 ¥z UEAR R 1 72 e A 8, W
Fra § _

(A) HrTamT (B) s

(C) sweraTs L (D) w1 Frd 7
v & adue Sfee s aad 7
(A) wslta than (8) sl i
(C) di.irs.fn-m/m}mﬁﬂiiﬂm :
qn & f2 7w wam o, 71 7o F = 0.1 mm
R 3 s w2 W 4 % 10 'm P 13T
yea # " (fe=) 1 <erd 4 mm , @ 52
af T & e 7h @

(A) 0.1 mm (8) 1m
(C) 0.1.¢m (DLAEm
] (0.0347)" +(0.9653)’

16!6347)’ ~0.0347%0.9653 + (0.9653)’
FHA 2

(A) o/

(C) 10

(B) 30
(D) 1

fﬁaa\mﬁumﬁmt{mﬁ
(aTa-[-a7 fiir) & Tm & 91 9@ & &

gfFa & i ¢ gfwrai A gEsdi @ o TE
wifra F | o

(A) e i@ (B) FFe fiit

() ®rggn fire (D) 3u fiz

fau o zrer @ e W o 3w W s
fraymFIme:

UF WS A, B, C, D, E Fa3lGamm g
Rrameamn @ A AR I, DFTRAR, B
& fFm w R s Esum asrfi R 1 G, E 3R
FREIATE | Dafuf sm @ dau? |
pFEdasFR-asR FMugHiR ?

(A) CE (B) GB

C (D) FC

Ac Enen’
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)x Q means P is the sister of Q ; P+ Qmeans
' is the father of Q ; P — Q means P is the
nother of Q. Which of the following means

isthe auntof T ? %ﬁl
(B) S+TxM lg

A) TxM+S
C)SxM+T (D) SxM+R-T

hold the information that the CPU
currently working on.

A) Control Unit
C) Output Unit

(B) Input Unit
(D) Registers

nited Nations was established in the year

\) 1965 (B) 1945
C) 1942 (D) None of the above

hronic liver damage is called
A) Cirrhosis (B) Lambosis
) Poikalosis (D) Lardosis

man rides at the rate of 18 km/hr, but
ops for 6 mins to change horses at the end
every 7" km. The time that he will take to
ver a distance of 90 km is

) 6 hrs 18 min. (B) 6 hrs 12 min.
) 6 hrs (D) 6 hrs 24 min,

Haryana the First Krishi Vigyan Kendra
s established in
| 1970
| 1980

(B) 1983
(D) 1976

}. 120 men had provisions for 200~ /s.
After 5 days, 30 men died due to an
epidemic. The remaining food will now
last for

(A) 150 days

(C) 245 days

(B) 260 days
(D) 146% days

e leaders who were behind the

tablishment of UNO are

) Franklin D. Roosevelt, Joseph Stalin,
Winston Churchill

') Wudro Wilson, Winston Churchill,
Josoeh Stalin

-) Franklin D. Roosevelt, Winston Churchill,
Nehru

)) Franklin D. Roosevelt, Lenin,
Winston Churchill

ow much angle does a minute hand cover
1 20 minutes ?
A) 120°

(B) 60°
C) 80°

(D) 180°

-6-

D
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28. PxQ®F NGB P QFtaga®; P+ Qwt avd B

30.

31.

32.

33

34.

35.

36.

PQF fa ; p—qw ad 2 p QA T
? |1;‘l;r%fh'aiiﬁﬁnmawd%ﬁas,ﬁﬁ
an

A) TxM+S (B) S+TxM

(C) SxM+T (D) SxM+f—T

29, 30 I F unw Fen f
W A Frd e
(A) (B) 3T gaTE
(C) Frfa garé (D) =
WY U ) T g gdi?
(A) 1965 (B)4945
(C) 1942 (D) 39t 3 A Fré 77
Sutafis 3ga FEATA £ |
(A) fatfa / (B) ere=fag
(C) drgFeifira (D) =mEifaq
T redt 18-t /e it = & wEr) w b,
A w0 7.t & ofa 3 Ol ) 77em ¥ R
6 fire Fyfere ¥ sma & 1 90 fomht i 2h
& T e T /
(A).6 2 18 fire (B) 642 12 finz
[t) 6% (D) 6% 24 firz
eftamon & veen #f% fawm 2 Fm wnfig fr o 7
(A) 197 (8) 1983
(C) 1980 (D) 1976
120 7791 % fere 200 fei w1 wraum an ) 5 R
& =R, WETHI % FRU 30 gEi ) geg A |
37" T g3l M e AT o wwem 7

(A) 150 day/ "~ (B) 260 days

(C) 245 da/ (D) 146-‘-;1- days
HYT g §9 A wUrwan & 63 fE Fasd 7
gy

(A) SRR &, ke, S weifem, fame aft
(8) et e, fare wfife, e wafer
(C) WHRm A, Tvdwe, Rme afda, 88
(D) iR B, wordee, I, fmer I

arelt |E 20 fire F feaw @O
ko) SR

(A) 120 (B) 60°
(c) 80° (D) 180°
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45,

In case of an ore containing z
depresSanl used is B nS and PbS. the

(A ZnEN (B) NasCN
() NaCN (D) PbSCN

Vision "'SAGAR’ (Security and Growth for All
in the Region) is related to

(A) Indo-Pacific
(C) India-Caribbean

(B) Indo-Bangla
(D) Indo-China

Where did Napoleon Bonaparte die ?
(A) St. Helena (B) Nile
(C) Corsica (D) St. Elba

A train 270 meter long is running at a speed
of 36 km per hour, then it will cross a bridge
of length 180 metres in

(A) 50 sec. (B) 45 sec.

(C) 40 sec. (D) 35 sec.

Which of the following pyramid is always
upright ?

(A) Energy

(B) Biomass of aquatic ecosystem

(C) Number

(D) Biomass

also known as the system board,
is a large multilayered printed circuit board
inside a computer.
(A) Motherboard
(B) Basic Input/Output Systems (BIOS)
(C) Control Unit
(D) None of the above

Teacher : Education :: Mason :

(A) Shoes (B) Film
(C) Book (D) wall

: bohydrate, protein and fat
+ Ena;tabo";lsm in the body is regulated

by the hormone (8] FSH

A) Adrenaline
((C; Thyroxin (D) Oxytocin
port [s an

The state of World Por:juéaﬂon Re
annual report published by

(A) International Labour Organization (ILO)
(8) World Health Organlzation (WHO)

(C) United Nations population Fund (UNFPA)

(D) None of the above

!

37.

38.

pRALD)
HAE
39,
40.

41.

42

43.

45.
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ZnS 3 PbS AT U IR H, WgE HTETEE
(A) ZnCN (B) NaSCN.
(C) NaCN (D) P
af ‘SAGAR’ (#r 1 wa 7 fern 7yean 3ftt 3f%)
AwEhmd )~
(B) viTta -
(D) wrra <

(A) W@ -weTia
(C) wma-Fhfrm

iferrm e ) geg el w7
(A) ffe et (B) &
(C) =i (D) 2

270rﬂaéihna:i;qasﬁﬂﬂaﬁ:ﬁizﬁnﬁ%
Hatﬂz,a‘lauantfmmd*nwﬁﬁ
foraa T o qr w7 .

(A) 50¥FE (B) 45 #FE

(C) 40 EFE (D) 358FE
frfefea | 2w ffirs wa wa g ?

(A)
(B) e afefEfa) somedt 1 EERI

(C) &
jp)}}@wn ‘
A fawew @ i Fea €, T® TF
—Tind bz A IS

R

(A) nzlm?é-/

(B) v 3qz/3msege fawed (BIOS)
(c) Foraaor goTd

(D) it | | FI§ TE

fveqe ;- fonem - w7

(A) d (8) frem
(C) J=F (R) 4N

7tk # FErERse, MEF I @ w1 IYHEd
______.B’l‘ﬂqmﬁuﬁﬂ's’m% I

(A) BfEAfe (B) FSH

(C) (D) ifRFeitaa
forva e feafa ol fomashs gra sreTfRma o
anfis frae & 7

(A) Sieiefa sm waa (Fmiersh)

(8) frva TR wTeA (TRqEEa)

(C) T T FTHCHT Y (FTATHIY
(D) IR 3 & = Tl )
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96. Net National Product (NNP) = Gross National
Product (GNP) - :
{A) Investment
(C) Depreciation

(B) Deduction
(D) None of the above

47. Consider the following stalements

about Reserve Bank of India
(RBI).
I. Itisthe Central Bank of India which controls
the monetary palicy of the country,
ll. It supervises the activities of both the
formal and informal sectors and keep
the track of their activities.

Choose the right option Riven below :

(A) The statement I is correct

(B) Both the statements | and Il are incorrect
(C) Both the statements | and Il are correct
(D) The statement 11 is carrect

The purposeful, organized Broups that strive
to work toward a common social goal are

(A) Flash movements

(B) Conventional movements
(C) Political movements

(D) Social movements

Which of the following is not a impact printer ?
(A) dot matrix printer (B) laser printer
(C) drum printer
Complete the series :
7,26, 63, 124, 215, 342,7

(A) 481 (B) 421
(C) 391 (D) 511
Litmus solution Is a dye.
(A) Orange (B) Lilac
(C) Purple (D) Yellow

Which of the following Acts provides the
Statutory Status to functioning of Reserve
Bank of India ?

(A) The Reserve Bank of India Act, 1954
(Il of 1954)

(B) The Reserve Bank of India Act, 1934
(Il of 1934)

(C) The Reserve Bank of India Act, 1944
(Il of 1944)

(D) None of the above

(D) daisy wheel printe’

46.

47.

48,

50.

51.

52,

49’
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T T 3 (v v ), = Tt U Iaa
(Foaf.) - |

(A) Fram (0) w2l
(C) Fmmm (D) 3% # A W o)

vl froed & (Rei) @ ot i Arefafem
i fasm &t
| a® s g & R S A ) DM Ay
T P @
u.mshumﬁmsmmmfmzﬁéﬁtd}
nfafafim w1 wdaam wrn B i I0
nfafafidi v g3 wmm
ferfeaa 3 & ) e s it
(A) w1 )77 D
(B) T4 ) 3w 11 2t weh 1 8
(C) 21 e 1 s i
(D) & 1wt @
awﬁ@ﬁmﬁﬂwﬁmmmﬁ&!
(A) w71 Siem
(B) STt aiters
(C]-Tr=rifas arerem
‘Imwﬁaamﬁw/

ﬁtrl%fﬁaaﬁ%mh-mqmmﬁamt?

(A) sz g it (p) wrem fim

(C) 3w firew (D) & == i

’Bﬂ?ﬂtﬁﬁﬁ

7,26, 63,124, 215, 342, ?

(A) 481~ (B) 421

(C) 391 (D) 511

ferzm faem o AN i

(A) STt (B} T

(C) (D) dien

Frfeafaa # & A -m sfiufam fod §5 o

e & FE A s o wem w7

(A) vt frod 3 srfafam, 1954
(1954 1 11)

(B) Wt ford & arfifiam, 193
(19341 11) B

(C) wreedTa frord & arfufyam, 1944
(1944 11) L

(D) i & A 78 ’
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53.

55.

57.

59,

Section B2 of Indian Penal Code provides
that nothing Is an offence which s done by
a child under years of age.
(A) 15 (8) 7
12 (D) 9

_ IS provided by the Internet
service Provider (ISP) to instruct the modem
to dial lhﬁe telephone number and to identify
the user’s machine to the access provider’s

system for access 1o the network.
(A) Dialler software

(B) TCP/IP
(C) Browser
(D) None of the above

Inflation in an economy may arise from the
overall increase in the cost of production. It
is called

{A‘ Cost-push inflation

(B) Deficit-induced inflation

(C) Demand-pull inflation

(D) No inflation

56. Aruna ranks twelfthin a class of forty-six.
What will be her rank from the last ?
(A) 37+ (B) 34"
(C) 35" (D) 33"

Who was called as the Father of Anatomy ?
(A) Aristotle (B) Ptolemy |
(C) Herophilus (D) Hippocrates -

What is the number of pieces into* .n
a cube can be cut by three cuts- Jne

direction, six cuts in the se_can_q:i,‘ sction
and seven cuts in the third directi . ?

(A) 126 (B) 278
(C) 312 (D) 224 4

Find out the incorrect matching related to
Atomic Power Stations and the States in

which they located.
(A) Narora -~

B) Kalpakkam -
Ec} Kaiga —  Karnataka

(D) Kakarapara —  Gujarat
Permanent Court of Arbitration (PCA)

Headquarter is located In
(A) Baku (B) Haguit
(C) New York (D) Karac

Uttar Pradesh
Andhra Pradesh

53.

54.

55.

56.

58.

59.
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:m'ﬁrmarrru iy
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(A) BEIET G
(8) TCP/IP
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DEGEREE )
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?Frﬂquﬁ-;mﬁ LIH% Frema 2 |
(A) T -Stfa e
(8) wz1-fa T v
(c) min-wiFm
(D) whifa 7
ﬂ&*mﬁmm?mma’fh
T R T T T
(AL@ ‘B] 34&_/?5]‘%
gy 3s” (D) 33°
mmmmmﬁﬁwm@?
[Mm (B) E-T—E-‘-Eﬁ
(cl%ﬁﬁmﬂ (D) m
et feam & wma w12 ST go OF w9
el § Fe o W @ 7
i) 126 (8) 278
() 312 0) 2
firems 3 e wmd, o & fea €
@) s - Imwm
(B) ®eTFH ~ g
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61. It refers nes
sociologicalresearch — consis ing of priondun
and ethical standards 1q it nciples
discipline in the

(A) Participant ethicg
(B) Code of ethics

(C) Code of behavioyr
(D) Code of conduct

62. Which number will

_ come
question mark »

in the place of
(A) 125 .

(C) 112
Homo sapiens

(A) Hissidae
(C) Holinidae

(B) 218
(D) 228
belongs to the family
(B) Hominidae
(D) None of the above

Presentiv Haryana Railway Police is Headed by

(A) A s, Chawla
(B) Surinder Singh Bhoria
(C) Satender Kumar Gupta
(D) Rajinder Kumar

From the given answer figures, select the
_ § onei
which the questio 3

n figure is hidden/embedded.

N

CMMLS
T8 TS STE F 3%
ﬁm—ﬁ%ﬁm’ldzfﬁamt.ﬁ&;
mﬂﬁaﬁﬂmfﬁaﬁtﬂmwm

(A) aftrrrht Aferren

61.

7

7

F/

62.

—

63,

(B) Ao wifean
[ 216 | 343 ?
(C) 112 (D) 228 %g
T 4 eftaron Yerd e 5w e 4 7
65. A S e 2, e g g s

Y]

(A)

——

(B)

()

\

The Bretton Woods Confere
(A) 1945

(C) 1944

(D)

nce held in the year
(B) 1991
(D) 1956

Who has the IunFest tenure as Governor of
Reserve Bank of India ?

5
(A) 1. G. Patel %ﬁ%
(B) Sir Benegal Rama Rau
(C) Manmohan Singh
(D) None of the above

-10-

(C) =xaen wfien
(D) 3= wifeen
mﬁafhnﬂqmaﬁq—mﬁwwﬁrﬁ;

2 6 2
4 [ -1 3
(A) 1357 (B) 218
Mﬂﬁammdéuﬁ:amﬁ%?
() fofird (8) wrfafr2
(C) efehf2 (D) 37T & & #é 5

(A) B, Tg-amEen
(8) g o e
(C) FdR T e
(br FAT

T AHf R i 2

(A)

(B)

(C) (D)

——

o =k 3 a2
(B) 1991

66. 3F qgW wier

(C) wmives fiw
(D) %0 % & = 7y
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69.

70.

n,

74,

Notochord present in
(A) Both (B) and (C)

(B) Non.
(C) Chordates ) Non-chordates

(D) None of these

If every sgcond Saturday and all Sundays are
holidays in a 30 days month beginning on
Saturday, then how many working d
there in that last month ?

(A) 20 (B) 23
(C) 22 (D) 21

Which of the following is example for
Lomentum (Schizocarpic fruit) ?

(A) Mango (B) Euphorbla
(C) Mimosa (D) Peach

ays are

In a photograph Shyam is to the left of
Madan, Mary is to the right of George.
Karim is in between Shyam and Mary. Who
is at the corner ?

(A) Shyam (B) Karim

(C) George (D) Mary

Select the correct mirror image of the given
figure when the mirror is placed at line AB.

A
AK
T I
B ,
DA T A
() ’8”? (8) 863;1
T A L3 A
(C) %3 f';: (D) Oaf?r'l

The longest National Highway In India NH-7

tonnects
(&) New Delhi — Mumbal = Bangalore

(B) Shillong — Kanya KumariI
(C) Kashmir — Kanya Kumarl
(D) Varanasi — Kanya Kumar
Which State Government Is the sponsor for

Indian Hockey team ?
(A) Telangana
(C) Odisha

(8) Punjab
(D) Karnataka

-11-
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68.

69.

70.

71.

cCMMS — 51
vt aufeim g @
() () 3 ()@t (n) he-wiEZE

(c) witza (D) ¥# R
wifam @ gy wo e 30 f A WA A uf2
wer o aifgan sie wh e 6 g2 wrefl
7, M hﬁl,ld}&ﬁgﬂfﬁﬁtwﬁﬁmﬁ?
(A) 20~ (B) 23

(C) 22 (D) 21

fa i 8 - wiiten (fEmETTTF wE)
a7

(A) 21
(c) femran

() FEmfam
(D) #TE

v it , T WA AT e |5, FHETO R
wHm s HdaE R IFRTEAE T

(A) 7@m (B) F™

(014, (D) ¥

72. A hSwrfa e adw fafaa g s 76

£V 301 AB 7 T e R |
A
AK L AN
MGO 3 »
T
B
2 A TA
(A) 8”"“‘ (8) ga M
T A
TA Ie;x A
(c ga M {W’Oafm
A T
\TTA T T 91 UL T NH-7 g @
(A) 7§ faeeft — ard -
(8) frem - &=m

74, SR-HI TR G0ER VI B An @ i § 7

(A) e

(C) m/

(B) Y=mw
(D) wate=




75. Oneofthe mostinfluential modern scientists

to put forth a theory about how people
develop a sense of self

(A) Erik Erikson (B) Robert K. Merton
(C) Jean Piaget (D) Sigmund Freud

76. Choose the correct order.
(1) yarn (2) Silkworm
(4) Silk (5) Cloth
(A) (3), (4), (1), (2). (5)
(B) (2), (4), (5).(1). (3)
(C) (2), (4), (3),(5), (1)
(D) (2), (4), (1), (5).(3)

(3) Saree

77. In Microsoft Excel, the is defined
as the vertical space from top to the bottom
of the window.

(A) Row (B) Insert
(C) Column (D) Tab
78. Apogamy is common in
(A) Cycas (B) Tomato
(C) Ferns (D) Gnetum
79. If in a certain code, ‘OTRIVIN' is written

as ‘NIVROTR’, then how will ‘RISKING’ be

itten in that code ?
e (B) GNIPRIS

(A) GINPRIS
(C) GNPIRIS (D) GNIKRIS .

80. The First Chemical Examiner’s Labor . was
established in 1853 by the Gaverr it of

(A) Delhi (B) W Jengal
(C) Hyderabad (D) ~Giljarat

="
India’s first Pan-India helpline for lm%

Bl. _
senior citizens 15
(A) Elder line, 14647
(8) Elder line, 14567
(C) Elder line, 14765
(D) None of the above
g2. The average age of 3 friends Is 32 years. If
the age of a fourth friend Is added, thelr
average age becomes 31 years. What Is the
age of the fourth friend ?
(A) 24 years (B) 2B years
(C) 32 years (D) 26 years
)

Download

75.

76.

77.

78.

7.
80.

B1.

B2.
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CMMS ¢
waR mEel smgfE AR A A A g
a3 v P wega faan fon &m v A e
¥4 fraftm v £
(A) uft ufewed (B) U &. 77
(c) s foar= (D) S
e W A |
(1) ad  (2) e (3) E8
(4) @m  (5) F9SI
(A) (3), (4), (1), (2), (5)
(8) (2), (4),(5), (1), (3
(C) (2), (4), (3). (5), (1)
(D) (2), (4), (1), (5). (3)
WEFTATGE THIE H, F AR F A

# 7 7 F Il TE & w9 5 gfwiied R
A HFATL |

(A) T (B) 3%

(C) HicH (D) 24
WWW? ? L

(A} HRFH (B) TR REe
Q (D) =\ :

afe ww g2, ‘OTRIVIN' 1 ‘NIVROTR' féran sman
%, vt g i ‘RISKING” T & feran 7

(A) GINPRIS (B) GNIPR
(C) GNPIRIS (D) GNIKRIS

wuq TEAfE Stawal warmen 1853 #
T T wa g |

(A) feeft (B) s st

(C) [SACIC (D) HEL

v i wEwew s Gt F fog sfae
et Eeves @

(A) TS 184, 14647

(B) UcEY AATFA, 14567

(C) UFET 54, 14765

(D) Iviam & ® 1§ e

3 2wt ) ofrem oy 32 af B ) AR W B
®) 31 Sig & 3, A A shwa g 37
(A) 24ﬂ (B) 23“




— 15 a World Wide Web interface

. U o- d

A) Outlook express

. (B) E-mail
C) Webmail

(D) None of these

Recently, the State which has come up with

ra “Happiness Index" department is
l{g) :erala (B) Karnataka
) Haryana (D) None of these
Aquatic mammals in
polar seas h
ayer of fat known as v thick
(A) Blubber

(B) Fur
(C) Rubber

(D) Scrubber
Most of the economies are
(A) Mixed economies
(B) Communist economies
(C) Capitalist economies
(D) Socialist economies
refers to the policies undertaken
by Governments (national and subnational
levels) to reduce their deficits and
accumulation of debt stock.
(A) Fiscal consolidation
(B) Fiscal debt
(C) Repo management
(D) Fiscal borrowing

Which one of the following is a outer planet ?
(A) Mercury (B) Mars
(C) Jupiter (D) Venus

tional discussion groups
m:r:e ;n;flrrl:c‘iacular topic and helps in
gathering information about the topic.
(A) File Transfer Protocol (FTP)
(B) Newsgroup
(C) Telnet
(D) None of the above
he eradication of a

Afger]a —the last
s. Itis

UNEP announced 1t ;
pollutant from the world as A
country to use exhausted its sSuPP

(A) Un-leaded petrol (B) Coal tar

(C) Coal (D) Leaded petrol

83.

B
it
8Aa.

85.

87.

88,

90.
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English Language

the following question, you have to
e the suitable words for the homes or
nitats of the noun subjects from the given

oices.

ans or fowls are keptina

\) barracks - (B) den
2) hole_~” (D) coop

ill in the blank with appropriate adjective
rom the alternatives given below.
than his brother.

Heis
(A) eld (B) oldest
(C) older (D) eldest

Choose the Antonym of the given word.
DEXTEROUS

(A) awkward
(C) discord‘/

The followingsentence contains grammatical
error or idiomatic error in it. You have to ﬁl:lr.'
out that part of the sentence and chor
the alphabet of that part as answer.
He was discharged as there was 7~
against his guilt.
(A) no proof against hiiyk
(B) He was discharged
(C) as there was
(D) No error

(B) extravagance
(D) lazy

,roof

35. In the following question, a sentence has
been given in Direct/Indirect Speech. Qut of
the four given alternatives, select the one

whi_ch best expresses the same sentence in
Indirect/Direct Speech.

Nayan exclaimed sad| that

(A) Navzn/said, “Alas s!!I hawlz-| E:eisuunrzl?n?‘.
(B) Nayan said, “Alas | | am undone"’ e
(C) Nayan said, “Alas | He was undone”
(D) Nayan said, “Alas | He |s undone”, .

CMMS -§1
fo=h
96. qﬂ%ﬁﬁmﬂﬁmwﬁmﬁwm“
A, FEa & |
(A) ..
(B) 7= Eﬁ%
(C) =T i
(D) T @ e AT
97. 3 e 7 vgl T B, I FEd ¢ |
(A)
(8) wfe
(c) e
(D) sr{ij,a\a?ri'-rﬁ
98. (a?l'd:-i-fﬂ'?{: 3T, A
TR R |
(A) TR
(B) ==
(C)
(D) ¥ @ =18 TE
99. TRIATR \f Fws woed v,
FEAm & |
(A) w1
(B
(C) @vs
(D) we2
100. 2
YEGERIG
mg (8) T
) I"El (C)'{zﬁﬁ
(D) T | =g el
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